
Travla Series
Model : C158
2.1" x 12" x 11" (HxWxL)
QUICK START
USER GUIDE

  AA   BB   CC   DD

C. CD-ROM Screw

 B. Flat Head M3 Screw

Screw Identification Guide

D. Thumb Screw

8mm6mm 3mm 5mm5mm
  EE

E. Hex Head M3 Screw

WARNING: Installation and service of
this product should only be performed
by qualified personnel to avoid damge
to this product and risk of injuries.

  FF

Copyright ©  2004-2005 www.Travla.com. All rights reserved 

5mm

A. Socket Head M3 Screw

F. Round Head M4 Screw

6mm
  G

G. Hex Head #6 Screw

  221.

1.  Loosen screw "D" (x1) 

2.  Slide back  Top Cover 

1. Remove Top Cover 1

3. Remove Media Drive Holder

 1. Remove scews "B" (x2) 
2. Remove the Filler Panel1

2

2. Remove Media Drive Filler Panel

1. Remove screws “B” (x3)

2. Remove Media Drive Holder

Top Cover

1

2

Filler Panel

Media Drive Holder

4. Install Media Drive and Compact Flash

1

2

Media
Drive

Compact Flash

Use two screws “C” on both
sides to mount the
media drive.

2. Install Compact Flash with screw “B” (x4) as shown

1. Install Media drive by placing it into the Holder
    using screws “C” (x4)

5. Remove Hard Driver Holder

1. Remove screw “E” (x1)

2. Remove HDD Holder as shown

2

11

6. Install 3.5” Hard Driver

3.5” Hard Drive

Hard Drive
Holder

Hard Drive Holder

1. Place 3.5” hard drive into the holder
 2. Install two screws “G” on each side

11

12

1. Place mini-ITX motherboard into the case

 2. Install screws “E” (x4) as shown

I/O gasket

mini-ITX motherboard

11

7. Install motherboard and PCI Card

8. Install Mounting kit

1. Attach the Mounting Bracket as shown

2. Install screws “F” (x2)11

Mounting Kit
(one on each side)

3. Repeat steps 1 & 2 on the other side
    of the case

12

Included accessories:
1. Mounting Kit - 1 Pair
2. Single PCI riser card - 1 pcs
3. Screw accessories - 1 bag

PCI Card

Riser card

3. Install the riser card and PCI card as shown

13

D
istrib

u
e p

ar A
n
teo

r - w
w

w
.an

teo
r.co

m
 - T

el : 0
1
 6

1
 3

7
 0

7
 0

0


